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Math 250 7.2 Supplemental Homework problems —

Find the indefinite integral:
0
1 cot—db
) Joot3

2) jcsc 2

3

N

[(cos30-1)d0

cost
4 drt
) J-1+sint

J- secxtanx

5) dx

secx—1
6) J.(sec 2x + tan 2x) dx

7 jtan 560 df

8) jsec%dx

Integrating Trig Functions

9) j (2 ‘ tan%) do

o
CSE
dt

10) |

cott

Evaluate the definite integral

0.2
12) {(csc26 —cot 20)’ d6
0.1

T2
13 jcscx—sinx dx
wl4

wld . T 3
14) J‘ sSin x — COS xdx

2
e



Solutions:

1y

2)

3)
4)
3)

6)

7)

8)

9)

31n +C

)
sin—
3

- —;-lnicsc 2x +cot2x|+C

é—sin(?’@) -0+C

In[l + sin t] e

ln‘sec = 1{ +C

%ln\sec 2x + tan 2x\ — ln\cos 2xl +C
= —é—ln\cos 56|+C

21nsec£+ tan£+C
2 2

20 +4In +C

0
COS —|
4

10) = 1n\cot t\ +C

11) In
12) —cot0.4 +csc0.4-0.2 + cot0.2—csc0.2+0.1

13) 1n(ﬁ+1)—£2—

2 —sin?2
1—sinl

2

14) =2
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